

Аннотация

7

Или так можно.

1

Или так

$$\frac{dy}{dx} + \frac{1}{x} y dx = 3x^2 y^2 dx$$

$$\frac{dy}{dx} + \frac{1}{x} y = 3x^2 y^2 \quad \text{--- 1}$$

для $\frac{dy}{dx} + p(x)y = Q(x)y^n \rightarrow n=2$

тогда $v = y^{1-n} = y^{-1} = \frac{1}{y}$ --- 2

1) $y \rightarrow v$

$$\frac{dv}{dx} = \frac{d y^{-1}}{dx} = -1 y^{-2} \frac{dy}{dx}$$

$$-\frac{dv}{dx} = y^{-2} \frac{dy}{dx} \quad \text{--- 3}$$

тогда 1) y^2 умножим.

$$y^2 \frac{dv}{dx} + \frac{1}{x} y^{-1} = 3x^2 \quad \text{--- 4}$$

2) 3) умножим 4)

$$-\frac{dv}{dx} + \frac{1}{x} v = 3x^2$$

$$\frac{dy}{dx} - \frac{1}{x}y = -3x^2$$

$$y = \frac{-\int(-\frac{1}{x})dx}{e^{\int(-\frac{1}{x})dx}} \left[\int \frac{-1}{x} dx \right. \\ \left. e^{\int(-\frac{1}{x})dx} (-3x^2) dx + C \right]$$

$$y = \frac{1}{x} \left[\int e^{-\ln x} (-3x^2) dx + C \right]$$

$$y = \frac{1}{x} \left[\int \frac{1}{x} (-3x^2) dx + C \right]$$

$$y = \frac{1}{x} \left[\int -3x dx + C \right]$$

$$y = \frac{1}{x} \left[-\frac{3}{2}x^2 + C \right]$$

$$y = -\frac{3}{2}x + \frac{C}{x}$$

~~$$y = -\frac{3}{2}x^3 + Cx$$~~

$$\boxed{xy \left(C - \frac{3}{2}x^2 \right) = 1}$$

$$y = x \left[C - \frac{3}{2}x^2 \right] \quad \text{--- (5)}$$

$$\text{or } y = \frac{1}{4} \quad \text{--- (6)}$$

~~$$y = 4x \left(C - \frac{3}{2}x^2 \right)$$~~

$$1 = 4x \left[C - \frac{3}{2}x^2 \right] \quad \text{--- (7)}$$

2. 44)

$$y = \frac{1}{Ce^{-2x} - \frac{1}{3}}$$

①

② Bernoulli

$$\frac{dy}{dx} = -2 - y + y^2 \quad \text{--- } y_1 = 2$$

Standard form $\frac{dy}{dx} = P(x) + Q(x)y + R(x)y^2$

$$P(x) = -2$$

$$Q(x) = -1$$

$$R(x) = 1$$

$$z = \frac{1}{y - y_1} = \frac{1}{y - 2}$$

$$y - 2 = \frac{1}{z}$$

$$y = \frac{1}{z} + 2 = \frac{1 + 2z}{z}$$

$$\frac{dy}{dx} = \frac{dz^{-1}}{dx} + \frac{dz^0}{dx}$$

$$\frac{dy}{dx} = -1 z^{-2} \frac{dz}{dx} = -z^{-2} \frac{dz}{dx} \quad \text{--- } (3)$$

② ③ usw ①

$$-z^{-2} \frac{dz}{dx} = -2 - \left(\frac{1}{z} + 2\right) + \left(\frac{1}{z} + 2\right)^2$$

$$-z^{-2} \frac{dz}{dx} = -2 - \frac{1}{z} - 2 + \left(\frac{1}{z^2} + \frac{4}{z} + 4\right)$$

$$-z^2 \frac{dz}{dx} = \cancel{4} - \frac{1}{z} + \frac{1}{z^2} + \frac{4}{z} + \cancel{4}$$

$$-z^2 \frac{dz}{dx} = \frac{3}{z} + \frac{1}{z^2}$$

$$-\frac{1}{z^2} \frac{dz}{dx} = \frac{3}{z} + \frac{1}{z^2}$$

$$-z^2 \text{ given}$$

$$\frac{dz}{dx} = -\frac{3z-1}{z^2} = -3z - 1$$

$$\frac{dz}{dx} + 3z = -1 \quad \text{Linear ODE}$$

form $\frac{dz}{dx} + p(x)z = q(x)$

$$z = \frac{e^{-\int p(x) dx}}{e^{-\int p(x) dx}} \left[\int e^{-\int p(x) dx} q(x) dx + C \right]$$

$$z = \frac{e^{-\int 3 dx}}{e^{-\int 3 dx}} \left[\int e^{-\int 3 dx} (-1) dx + C \right]$$

$$z = \frac{e^{-3x}}{e^{-3x}} \left[-\int e^{3x} dx + C \right]$$

$$z = e^{-3x} \left[-\frac{1}{3} e^{3x} + C \right]$$

$$z = -\frac{1}{3} + C e^{-3x} = C e^{-3x} - \frac{1}{3} \quad \text{--- (4)}$$

2711 $z = \frac{1}{y-2} \rightarrow \text{integrate}$

~~$y-2 = \frac{1}{z}$~~

$$\frac{1}{y-2} = c e^{-3x} - \frac{1}{3}$$

$$y = 2 + \frac{1}{c e^{-3x} - \frac{1}{3}}$$

✓

Substituieren (1) in (2)

(2)

(3)

$$(1+y^2)dx + xdy = 0$$

$$x \frac{dy}{dx} + y^2 + y = 0$$

$$\frac{dy}{dx} + \frac{(1+y^2)y}{x} = 0$$

$$Q(x) = 0$$

also

$$(1+y^2) \frac{dx}{dy} + x = 0$$

$$\frac{dx}{dy} + \frac{1}{(1+y^2)} x = 0$$

$$Q(y) = 0$$

$$\frac{dx}{dy} + \frac{1}{y(1+y^2)} x = 0$$

Substituieren (1) in (2)

$$3x^2y^3 + y^4 = c$$

8 5 10 ①

① $6xy dx + (4y + 9x^2) dy = 0$

invariant $M(x,y) dx + N(x,y) dy = 0$

$$\frac{\partial M}{\partial y} = \frac{\partial (6xy)}{\partial y} = 6x$$

$$\frac{\partial N}{\partial x} = \frac{\partial (4y + 9x^2)}{\partial x} = 18x$$

$\frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x}$ Not an exact differential (Exact)

$$\frac{1}{2} \left(\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} \right) = \frac{6x - 18x}{4y - 9x^2} = d$$

$$\frac{1}{M} \left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right) = \frac{18x - 6x}{6xy} = f(y)$$

low integrating factor $\mu(x,y) = \frac{1}{y^2}$

$$\frac{6xy dx}{y^2} + \frac{(4y + 9x^2) dy}{y^2} = 0$$

$$\frac{6x}{y} dx + \frac{4}{y} dy + \frac{9x^2}{y^2} dy = 0$$

(2)

integr $M(x, y) = y^2$

10) y^2 gammaon

$$y^2 6xy dx + 4y^2 y dy + 9x^2 y^2 dy = 0$$

$$6xy^3 dx + 4y^3 dy + 9x^2 y^2 dy = 0$$

$$\underline{3y^3 dx^2} + 4y^3 dy + \underline{3 \cancel{4} x^2 dy^3} = 0$$

$$3 [d y^3 x^2] + 4y^3 dy = 0$$

$$3 \int d y^3 x^2 + 4 \int y^3 dy = / 0$$

$$3 y^3 x^2 + \cancel{4} \frac{y^4}{\cancel{4}} = C$$

$$3 y^3 x^2 + y^4 = C \quad \text{--- } \textcircled{D}$$

is your is exact

$$6xy^3 dx + (4y^3 + 9x^2 y^2) dy = 0$$

an $M(x, y) dx + N(x, y) dy = 0$

$$\frac{\partial M}{\partial y} = \frac{\partial}{\partial y} 6xy^3 = 6x \cdot 3y^2 = 18xy^2$$

$$\frac{\partial N}{\partial x} = \frac{\partial}{\partial x} (4y^3 + 9x^2 y^2) = 9y^2 \frac{2x}{2x} = 18y^2 x \quad \text{--- } \textcircled{D}$$

$$(e^y + 1)^{-1} + \frac{1}{2}(e^x + 1)^{-2} = c \quad (1)$$

$$(8) \quad (e^y + 1)^2 e^{-y} dx + (e^x + 1)^3 e^{-x} dy = 0$$

$$\frac{1}{(e^x + 1)^3} e^{-x} dx + \frac{1}{(e^y + 1)^2} e^{-y} dy = 0$$

$$\frac{e^{-x}}{(e^x + 1)^3} dx + \frac{1}{(e^y + 1)^2} e^{-y} dy = 0$$

$$\frac{1}{(e^x + 1)^3} d(e^x + 1) + \frac{1}{(e^y + 1)^2} d(e^y + 1) = 0$$

$$\int (e^x + 1)^{-3} d(e^x + 1) + \int (e^y + 1)^{-2} d(e^y + 1) = \int 0$$

$$\frac{(e^x + 1)^{-2}}{-2} + \frac{(e^y + 1)^{-1}}{-1} = c$$

$$-\frac{1}{2}(e^x + 1)^{-2} - (e^y + 1)^{-1} = c$$

→ A general solution

$$\frac{1}{2}(e^x + 1)^{-2} + (e^y + 1)^{-1} = c \quad \text{--- } \textcircled{2}$$

$$124 \quad y \sin^2 x - y^2 \cos x = -9$$

(2)

(6) ~~is not~~ Exact use. W

$$(\sin^2 x - 2y \cos x) \frac{dy}{dx} + 2y \sin x \cos x + y^2 \sin x = 0$$

dx program.

$$(\sin^2 x - 2y \cos x) dy + (2y \sin x \cos x + y^2 \sin x) dx = 0$$

$$M(x, y) dx + N(x, y) dy = 0$$

$$\frac{\partial M}{\partial y} = \frac{\partial}{\partial y} (2y \sin x \cos x + y^2 \sin x)$$

$$= 2 \sin x \cos x + 2y \sin x$$

$$\frac{\partial N}{\partial x} = \frac{\partial}{\partial x} (\sin^2 x - 2y \cos x)$$

$$= 2 \sin x \cos x - 2y (-\sin x)$$

$$= 2 \sin x \cos x + 2y \sin x$$

$$\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x} = \text{is an Exact}$$

$$\sin^2 x dy - 2y \cos x dy + 2y \sin x \cos x dx + y^2 \sin x dx =$$

$$\sin^2 x dy - \cos x dy^2 - y^2 d \cos x + 2y \sin x \cos x dx$$

$$\sin^2 x dy + y d \sin^2 x - (d y^2 \cos x) = 0$$

$$\int (d y \sin^2 x) - \int (d y^2 \cos x) = 0$$

$$y \sin^2 x - y^2 \cos x = c \quad \text{--- } \checkmark$$

g)

$$xy' - y(\ln(y/x) + 1) = 0$$

$$x \frac{dy}{dx} - y(\ln(y/x) + 1) = 0 \quad \text{--- (1)}$$

(1) Homogenisiert

~~$$x dy = y dx$$~~

$$\text{für } y = vx \quad \text{--- (2)}$$

$$\frac{dy}{dx} = \frac{v dx}{dx} + x \frac{dv}{dx}$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx} \quad \text{--- (3)}$$

In (1) (3) einsetzen

$$x \left(v + x \frac{dv}{dx} \right) - vx \left(\ln \left(\frac{vx}{x} \right) + 1 \right) = 0$$

$$xv + x^2 \frac{dv}{dx} - vx (\ln v + 1) = 0$$

~~$$xv + x^2 \frac{dv}{dx} - vx \ln v - vx = 0$$~~

$$x^2 \frac{dv}{dx} - vx \ln v = 0$$

$$x^2 dv - vx \ln v dx = 0$$

$$\frac{1}{v \ln v} dv - \frac{x}{x^2} dx = 0$$

$$\frac{1}{\ln v} d \ln v - \frac{1}{x} dx = 0$$

$$\begin{aligned} (\ln v)^{-1} d \ln v - \frac{1}{x} dx &= 0 \\ \int (\ln v)^{-1} d \ln v - \int \frac{1}{x} dx &= 0 \\ \ln(\ln v) - \ln x &= \ln c \end{aligned}$$

$$\int \frac{1}{\ln v} d \ln v - \int \frac{1}{x} dx = \int 0$$

$$\ln(\ln v) - \ln x = \ln c$$

$$\ln(\ln v) = \ln x + \ln c$$

$$\ln(\ln v) = \ln(cx)$$

take e.

$$\ln v = cx$$

take e

$$v = e^{cx} \quad \text{--- (1)}$$

or

$$y = vx$$

$$v = \frac{y}{x} \quad \text{--- (2)}$$

144 (b) do e

$$\frac{y}{x} = \frac{e^{cx}}{e}$$

$$y = x \frac{e^{cx}}{e} \quad \text{—————} \quad \text{✓}$$